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(X) ) XY X2 Y2
1986 252 204 51408 63504 41616| 202.2889 1.711132
1987 257 212 54484 66049 449441 207.132 4.868011
1988 271 222 60162 73441 49284 220.6927 1.307272
1989 284 233 66172 80656 54289 233.2848 -0.28484
1990 298 244 72712 88804 59536| 246.8456 -2.84558
1991 311 251 78061 96721 63001| 259.4377 -8.4377
1992 317 257 81469 100489 66049| 265.2494 -8.24944
1993 319 260 82940 101761 67600| 267.1867 -7.18669
1994 324 267 86508 104976 71289| 272.0298 -5.02981
1995 327 272 88944 106929 73984| 274.9357 -2.93568
1996 328 279 91512 107584 77841 275.9043 3.095693
1997 332 281 93292 110224 78961| 279.7788 1.221196
1998 335 280 93800 112225 78400| 282.6847 -2.68468
1999 334 280 93520 111556 78400| 281.7161 -1.71605
2000 334 284 94856 111556 80656 281.7161 2.283948
2001 330 288 95040 108900 82944| 2778416 10.15844
2002 334 290 96860 111556 84100] 281.7161 8.283948
2003 339 293 99327 114921 85849| 286.5592 6.440827
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